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m=0.8SL = (1~ 3000V =+ 100)= 32. 8

m= SL—(I 2. 000V + 100)= 33.8

m= SL =(1-4/3V -+ 100 =327
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W/C=241-+(338+13.3) X 100 = 51. 167() W/C= 51.0 (%)
HALKE (W) LB ERHT K W= 174 (kg/nf)
B ARE(()

C=W-=WC X 100= 174 = 51.0 X 100 = 341 (kg/nf) = 341 (kg/nf)
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Va =2/)-ME%&-( W + Ve +Vain

= 1000 -( 174+ 113 +45)= 668(L/nf) Va= 668 (L /m)
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Vs =VaX (s/a=100)= 668 X ( 43.8+100)= 293 (L /n) Vs= 293 (L/mf)
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S3 =Vsd Xps3 = 88 X 2.62 = 231(kg/nf) S3= 231 (kg/nt)
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G2 = Vg2 Xpg2 = 187 X 2.68 = 501 (kg/nr) G2= 501 (kg/nt)
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Adl = € X gshn#E+- 100 = 341 X1.30=100= 4. 43 (kg/n’) Adl= 4. 43 (kg/nr)
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